


4(2, 5) € oAy = 2% 4+ ¢ F1°] AL W, o] 2419

a7
@ (-3, 0) @ (0, 3) @(0, -3)
@ (3, 0) ® (-3, 3)

y=2x>+¢ 9 =7}t A (2, 5) E AHE=
5=2(2)2+q .q=-3
kA H34 9] #HE= (0, - 3) °olth




(x+2)? o I =Z=?

Y
0_2 T
Y
-2 07
oY
Oz
A S} #377} (-2, 0) ©]



1o
.
oy
[E
i
=
)N
<
fu)
o,
r [*]
pory
N,
o
=)
it

& % obg) Fo171 olxg%
A #A o] L AL

D y=x2 ©y=-x*-1

©y=(x+1)>2 @ y=x+1

6,0 0206 066 ®ae Goe

y=ax’+q 2 x Fo AU Ty = —ax? — g ©|Th




ohg ol

ook

o] Az

i)
rlr
i

Fxato] & Ao A2?

1 - 3
®y=§x2+x—1:x=—1%_‘“ﬂ, 3‘45’3&—5

1 i 2
@ y=_§x2_x_2:>x=—1‘éfq1, Zﬂ%ﬁ—g

1 - 2
@y =-3+20-12 = A, Aot
@ y=2x>+12x=>x=3 4 o, TG -3

® y=-4br-5=x=> A Hugt -

[\)

B

1 1 3
@y=§x2—|—x—1:§(x+1)2—§
> x=-19 1, Mgt -
1 1
@y:—axz—x—2:—§(x+1)2—g

= x=-12 0, Ak

@y=2x2+12x=2(x+3)2-18
=x=-3 4 o, g -18
2

5 - )
> =2 Q) A 2




= 2 — .
V4 y = 2a2 o TR E 1 &

Yol 5et 1w A2 57

o= -3







TR0 277} (2,6) O|BE
=a(x-2)>+6°] A (0,4) E HYstHA

<

a(0-2)2+6=4,4a+6=4,a=—

1 1
y:—é(x—2)2—|—6:—§x2—|—2x—|—4

1
va=-3.,b=2,c=4

1
2a—b+c:2x<—§>—2+4:1




9.

Zol x=20]3, % A (0, 3), (1, 6) & ALHe oA

@ y=x*>+4x+2
@y:—x2+4x+3

O y=x>-4x-2
@ y=-x>+4x-3

® y=-x>-4x-3

B

Z0]l x=20|BE2y=q(x-2)%+gq
T A (0, 3), (1, 6) = AYE=R
3=4a+q, 6=a+gq
La=-1,g="7
y=-(x-2>+7
y=—(%-4x+4)+7
y=-x+4x+3




10. oAFg y = =322 + 6x + k+ 2 9] HHFro] 0 & wf, k O] FH2?

=

y=-3x2+6x+k+2=-3(x-1)2+k+5
x=1<% o, HTgtol k+50]2=




oAt y = ax? + bx + ¢ & L Zolt}, <HT]> F &2

y)\

@ b%—4dac>0
© abc <0

© a-b+c<0
® 9a+3b+c>0

@ at+b+c<4da+2b+c

@ 174 (@)2711 @371 @4/ O 574

y AH0] §40] 22 ¢ <0

@ x Z1] wHo| 27022 b2 — dac > 0

© abc > 0

©x=-19M,y=a-b+c=0
@x=3¢"W,y=9+3b+c=0
@x=1¥49d,y=a+b+c,x=29d,y=4a+2b+c,
a+b+c<da+2b+c




12, y=ax® +bx+c Y 2ot b5 I E2 W, y=cx® + bx+a
o] Jgz=?

yl\

Y
AUW
Y
%W

@

@)

(/]

%
©)
Yy

:Llﬁ

®
Y
;O;
X

B \

Fol I moflM y dHol 0 o]ER ¢ = 0, o2 EFo|ER

= b
a>0,—§—x:—%7]—°§013§_b<0

Ly =cx’+bx+a o y=bx+a A 7]&7]7} S0l y HHo|




13.

)

NS 16 cm?

ASTz-2--"D _--
~=12cm -

@ 7cm (@)SCm ® 9cm @ 10cm ® 1lem

ACEP @ ACAB (AAHS) o|BE2
CE:EP = CA:AB
Z CE:x=6:12

L 2 1 6x =16
2)6 X =

¥ -12x+32=(x-4)(x-8) =0
oAl B =

I349 6 < x <12 0|22 x = §(cm)




P} gol 2 o] ZEA y = %x2 @, y==x% ---O °]

B,Ega@ﬂau}%@%ca}@u}?zgg a o e
57
'yl\ @
X
C
©
V2 22 V3
® = (@)T @V @2 O+
1
B(a §a2>,C(a -a?)
Bo_Llo_ (o _3,_4
BC—2a (a)—2a—3
.a:¥('.'a>0)




® 45

= =
FoYgd25




